5
= i




BB Atz

[E] 5E 95 = 1 B

[ € B P i H = R E
HAH ] R % ) K 55 Ak 2
[ %€ B3 = 91 1H

[A 72 55 7 ) 5 25 5

Kb [ %€ 5

[ W R B

[ % B 7 AL



BB = mene

VA R — Pl 55 0= 1O B B

(=) [H 5 5 7= B ML & ARk

[ 5E Bt = & 48 RN B A LA R A TR 5 e

(1) ANEFREM. Bft5 5. HHREEEEnFE, £~
e HEHTHE;

(2) A& — PN THEE.

KU E S~ @ e sh B, HEesE—4 LA B ) B
NARNY A& £ 51 F 2 -



BB & sut

(] FHIET, J8 TR 4 il Al ] e 98 7= 16
(). (2020 4

A. A= R SR E KL

B. @& VR A = 2k

C. {TBUE B 1M F R &

D. 58 LA H A VR 4




BB & s

Ex: C
fiedr: LA, ETEME, & B, BETFAEELE; &
D, J&TFEAR M.




BB = mene

(Z) BIERHIDR

(1) HEFFHBTR

Q=L EHE R (B ;
@pE =g HEE R ™ (BRLES)
(2) FELFFHBAERBNELSEE 73
O =48 H [l € 5

@A =48 H [l e s
GMHEERE™ (ZE#MD) ;
@A H [l € 5
@AM H &l € 5=

©t:tth, FEit Ly B ANKH i



BB = mene

R B s S iR E

AR E TR THREIT IR B S, Ak —
MEZERE “BEER” . “FEitrIR” . “EETRE . ¢
TEYR” . “BEERr~FE” FRH.




BB = mhw>
fa  TE#E T e
- - -

FAAR RN

fe  RUITIH K

b=

= +

SRR

ERETRE It &

+

AR AR




BB = s

RV AL IUAS ST 5 B 7 K 55 A 2L

(—) HhgE 55 7

AV AR D [ R B, V3% SERR SO B9 KA K. A SRR
% A% [E E B IS B e T AR 5 BT ZE B AT &g i 0
HreH st RE . ARG A g s, (ENE
RE BT U A



BB = mene

[#E7]

LEOSH. HREA. 2. ERWER, HETAHEKE~HN
AR o

2. TN GRS Pt NEE R = piAss WHE R TR, R
NRPIERFE NG S CEEBHZE , DEARBERE A

3. W {EPAL

O— RN [ 58 T 7= AT HE R, 7T LAE A A Ak
fl.

@ /NG T B 78 B3 7= A BB A A e R A0S T A\ [ 7
BT AR o



=N

Fz

H5

OWMNA i B 2R & (B

— BN

fif: g U5
N AZ A B —— N A ME R CGRETBLAD
Br: BRATAE K/ AT KK

AN AL TN

fe: EEsrs (MBiait]

BY: BRATAEK/ AT KK




BB = s

[%14-15] 20224E5 H10H, HA RN — G AT B2 2 1)
T ENAE I 5 e%, B R (AR & A R 5 B3 B 3k 30
0007C, MERBLAINS 9007G, A4 0% %% H IS (ERL %
AKE, FHERERT00T, Bk, HEBFHI2T, KM
CVRAT A AT . R A a8 TH{ER — R .
fir: [ € B3 7= 30 700
NAZBE e —— N ASHE B GBI 3 942
B AT 34 642



BB & sut

[opat i ] R A ER — AN, WA—EATHEE
AR A%, MGEP T R E LA #0850 000G, $E1E
BiFLEIN6 50000, HARAEIEK 1 00076, ®ARHE5000T ()
AEBEER) . AEBHMRER, ZERSEOAKIMEAS ¢ D
TG

A. 50 000
B. 60 000
C. 58 500
D. 51 500




BB &
B=E. D
fENT: Z R EINKME =50 000+1 000+500=51 500
(J6)



BB = s

QW N\ 75 % % 2 117 [i] e B 7
NAE T 1 i8] 5E B 7 B AR i Btk _Ein b 22 2 i il A
%, YEANTKRAS

fi: LR
Mg N\ 5 2% NAZAR T —— AR A gk THUAR 400D
B ARATAF R/ DT EK
fi: fEETHE
XAV
W AR Bl Bl —— W A i (IR
R A N AS T e —— A HEE B CEEIURL 0

B ARATAEK




il 7

N

Fz

GEENEDR RSN
P E A T

fi5: 7R LFE
b JRRRL FEAE R LA )
7 A BR T % B 25
(327~ S0 2B = I el 3 == an B
AN RIGEBA RIS, AW & {ERE
TR B H ) R, L A R T 1T R AR B AT

& 2 TiE
A RS

fei: [EEH
b fEETAE




